a5 LYl zralinll 2850 (po ila] faa Jrasnd

almahahj.com/ae

ailyla Bl 2811

Z3 9 SN (lgid) lie¥) ali] ol

] i) 5 il 5 Gkl (ol 6 ] LY zalial) 65 zaliall gige

o) Ciad) ey s lair ¥ ol gil) g8lge sl

‘ k_LA.” .3‘54 ja.]‘j)

ol ) i o) dxld i 2l aall de M dw i)
&l dall]

Ay e sVl alil] | 2
i il (Seell asg alil] > 3
dass ey oil] L] ali] 4



https://almanahj.com/ae/6math3
https://almanahj.com/ae/6math
https://almanahj.com/ae/6
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade6uae
https://www.facebook.com/grade6uae
http://bit.ly/2VZ9P69
https://t.me/almanahj_bot
https://bit.ly/3sgt6Nz
https://bit.ly/3d3G9vw
https://bit.ly/3rgBjjD
https://bit.ly/2QCjuii
https://almanahj.com/ae/id=22210
https://almanahj.com/ae/id=22201
https://almanahj.com/ae/id=22164
https://almanahj.com/ae/id=22163
https://almanahj.com/ae/id=22118
http://www.tcpdf.org

46:23

o

N o 20-1 o ¥ B ...202 S Juoddl Ll jLis] -zagm Oleabdl - peolud] sl
|

distribution.

Fitness Club Attendance
aslll Sl L

| | | ] { | . L
- ! ] ! ! et

50 80 70 80 90 100 M0

T e e o i e e e e b |

: ‘:.’-ILA.MAJ‘ h..u‘,.‘..all :

' (® !

: The mean ,

S i T T T N T T T . |
Jes 5l

The median



: | N | 20-2 O‘ OB W ed bl s -zen Slabll - peolwdl dall | =
Jiand its height is 8 yd . 456 ang .8 yd aclis)

D Find its base.




46:15

D Temperatures 5, =)l O,
i

X
X X X X X

24 25 26 27 28 29 30 31 32 33 34

Fi o 20-4 o 2B W Jed iy i -zegn Slall - peolu] diall



|
20-5 O\ 200 . W e Gl i -2 Olabl - eolul Gial

Ol degame) glholl Gl oudl buvgis :P2

The table below shows the number e adsal gl sae ol Jgaadl maass
of daily visitors to a website on the Gbhall cibasy) bgia sag) . lage S my)
internet. Find the mean absolute Lol

deviation of the data.

The number of visitors g}l s

46 58 50 50




45:56

0

N o 20-6 o OB W e dly )l -zan Olobyll - guolul Guall

| |
\ |

6in.
\4» 3in.—

5 10 in

O 6 in

L e = s -

| 1

| i

XO) 4 1n :
|



2or7° o0 B

engths, in feet, of various

bridges are:

1,000:300:180. 250 200.

Identify any outlier in the data.

o I o)) Gl L] -zoum Olualdl - Guoludl wiual] ‘ —
|

180 ft

300 ft

1000 1t

AlBYL Adlida | gua Suc Jighl
1,000:300:180: 250 200:
LSllll A ad)hia el (gl 23

.d



v : -
4550 | 1 @) 208 @ T € B .. )W ol dlei jlis oy Sldlil - pwolud uall | =

D [

=== = -

100 150 200 250 300 350 400 450 3500

O 100 i
O 140 b
r-—=-===m =@ =@ = ®=® S/ =S==2="="=""="="="@="@="=="@="@==@==="===m=====m========&=m= . |
I 1
] i
:@ 250 ' c
| |
L



45:42 ‘ N ‘e 20-9 O‘ o8B .U Ll bl s -zasn Slobyl - geoludl dall

D Ages of Players on a Baseball Team Jgindd! 33,8 3 e I el
12 12 —— = —

10 10 |
z 8 _ 8
g 6 q s
2 2
0

0 2023 2427 283 32-35 36-39 20-23 24-27 28-31 32-35 36-39

Age (yrs _gyrs) o
ﬁ.-ﬂﬁ}“ -‘:-
O 8 gor-&




' I
45:34 ‘ [ g 20-10 o o BB WU s Ll i -zagm Oleabydl - Guolud] Guall |
| |
UL

oui) Jlgiall oLl :P1

Find the mode for the age of staff. coshbgall ey Jigiall 2ag)
49,25,30,49,36,49, 25. 49,25,30,49,36,49,25
O 36 ]
e T e g (S R S N e SN T TR (S -0 _—_— - -t . - b |
I |
1 1
'@ 49 1 .b
|
. :
I oon o o om e o e BE EE SR BE S e ey tm G B Em Er BN EE EE EE BN N EE BN M M BN GN BN GH ER AN GE S Gn Sm Em Sm mm Em am mm - |




89,67,45,59,68,94,75
89,67,45,59,68,94,75 casill i gll 2 gf
Find the median of the data.

O 59

O 67
: :
! ® 68 !
| |




| |
45:28 | [l o 20-12 0‘ o BB W e Ll i -zogm Olabyl - guolud] Guall

) e

O S.A=111+(48)(20) = 1071

O S A=111x(16+ 20) = 3996

1
® sA=111 +§(43)(20) — 591

1
1
1
|
@ L - SSos T T 7 7 7 7 7 7 77 7 77777777777 ============== d



g | | i |
520 0 @ 2013 @ T 8 B I et g il oy Sl - okl il | S

X
O « %o
O )( )( X x b
0 1 2 3 4
X X
X X
O X X X X X C
O T 2 3 4
: X X :
' X X X X X '
:@ - 4 X X X X - i d
@: 0 1 2 3 4 .



‘ | € 20-14 °| o 8B W s Ll sl -zasn Ol - peolwdl all | =

Next Question T e R

O 66 units a
O 86 units b
T o e e S R e R B T et L S e . Gy S = -1
1 |
1 1
| () 68 units K



45:19 ‘ A % 20-15 O‘ C BB ad 4l s -z Olsbyl - pesludl duall

O 360 cm?

10 cm

6 cm

6 cm



45:15 ‘ R ° 20-16 ° 2B W Led Dl s -zanm Ol - el dall | =

0

.
: 5 1n.

4 in.

O 54 in2 P
O 72 in2 b
O 94 in? c




45:12 | [ | 'S 00-17 O‘ OB W e Gl il -zagn Olsbl - peoludl Gall | =
|

Next Question®

- - O O - O O O O S O - O O O O S O S e O S - - O O O O O O S O S S S O O O e e S e e e .




45:10 ‘ = EE 20-18 o 57 'ﬁ' ﬁ e JW) eaddl g jlis -zaow SlabJl - pwold] auall
|
oD
. 10cm
6cm
12cm
O 44 cm? a
B B aAIManahi e /e T T mmmm T m T K
| 1
| |
' ® 66 cm? ' b
1 ]
1 |

)
O 120 cm?



A o 20-19 O‘ C 8B W el i -zaan Olebll - peolud] all | =

45:07

5cm o 8 cm
O 40 cm? a
O 80 cm? b
: :
' ® 20 cm? g i€
i




45:03 ‘ N | EZE 20-20 o 8B . cual i ey Olabyl - Geolud] el | =
Uty | |

I
Use the graph below to find the area S)lgia dalea 2y plisl JE) PREI
of the Parallelogram. £ LSY)
5cm
10 cm
O 15 cm? '
r- == "= "=-"=-"=="=="="="= "= "= ¥"="="= "= "= ¥=="=""=""="=/"= "= =""===®="/="="=="="="======= i

O
vl
Q
2]

EN



